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注  意  事  项

一、将你的姓名、考号填写在答题卡的规定栏内，将考号和考试科目在规定的栏内用2B铅笔涂满涂黑。考试结束后，把试卷和答题卡放在桌上。试卷和答题卡均不得带出考场。

二、仔细读懂题目的说明，并按题目要求答题。答案一定要写在答题卡的指定位置上，写在试卷上的答案无效。

三、选择题用2B铅笔将选中项涂满涂黑，主观题用蓝、黑圆珠笔或钢笔答题，使用铅笔答题无效。

Information for the Examinees:

This examination consists of THREE parts. They are:

   Part Ⅰ: Reading Comprehension  (50 points, 60 minutes)

   Part Ⅱ: Vocabulary and Structure (30 points, 30 minutes)

   Part Ⅲ: Writing (20 points, 30 minutes)

The total score for this examination is 100. The time allowed for this examination is 2 hours (120 minutes).
Part Ⅰ: Reading Comprehension              (50 points)                                  

Instructions:

· This part will take 60 minutes.
· There are FIVE sections in this part.
Mark ALL your answers by blackening the corresponding letter on the Answer Sheet, e.g.[ A ].
Section A  Questions 1- 5 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
DEAR ABBY: 
We have a 17-year-old granddaughter who has not spoken to us in six months. We sent Tiffany a Christmas card with a $50 check inside and she didn't even call to thank us. (She cashed the check immediately, though.)

We received an invitation to her graduation. It was sent by her mother (I know it by the handwriting). My husband says we should not go to her graduation because she hasn't called us in six months, even to say hello. He says we should just send a nice card with no money.
Please help me. What should I do? Tiffany is my grand-daughter, and I don't want to do the wrong thing. 
FAITHFUL READER IN NASHVILLE
DEAR FAITHFUL READER:
 If you think Tiffany has an attitude now, just wait until she doesn't receive what she thinks is coming to her. 

While it is not unusual for many people her age to be centered on themselves and not stay in touch with a visit or a phone call, your granddaughter was rude not to acknowledge the money you sent her for Christmas. What you choose to do about this, in addition to telling her mother, will depend upon how much backbone you have. I'll say this: If you do not attend the graduation, it's a lesson she'll remember for the rest of her life.
                                              Yours Abby

1. 
Who is probably Abby?

 
A. 
A Faithful Reader’s friend.           

B.
A Faithful Reader’s grandma.

C. 
A column writer.                     

D. 
The president of USA.

2. 
Who is probably the Faithful Reader?

 
A.
 An old lady.

B.
 An old man.      

C. 
 A young girl.

D. 
 A young girl’s father.

3. 
What is the problem that the Faithful Reader has?

 
A.
She is not sure whether she should send a card to Tiffany.

 
B. 
She is not sure whether she should buy a diamond in Tiffany.

C. 
She is not sure whether she should send money to her daughter.

D. 
She is not sure whether she should go to her granddaughter’s graduation. 

4. 
What does Abbey think about Tiffany?

 
A. 
Tiffany deserves the money.            

B. 
Tiffany is a good girl.      

C. 
Tiffany was rude to her grandmother      

D.
Tiffany is different from other girls of her age.

5. 
What is Abbey’s suggestion to the Faithful Reader?

 
A. 
Do not attend Tiffany’s graduation.          

B. 
Give Tiffany some money.      

C. 
Beat Tiffany—it’s a lesson she deserves.      

D.
Wait patiently for Tiffany’s invitation.

Section B  Questions 6-10 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
Diamonds are made of carbon(炭), a chemical element. That’s the same stuff that’s in the tip of a pencil. Pencil carbon is so soft that it rubs off on paper. But diamond carbon is so hard it can cut almost anything. In fact, diamonds are the hardest things in nature. The atoms inside a diamond have a special crystal shape. This makes them very hard.
Some diamonds can sparkle brilliantly. Such diamonds are rare. They are precious and valuable, and people wear them as jewelry. But most diamonds are small and contain flaws. These are worth much less. Big diamonds form deep under the ground. The diamonds are later brought to Earth’s surface by currents(流) of molten rock. The entire process can take billions of years! Smaller diamonds can form closer to Earth’s surface. Movements of the planet’s shell lift these stones up from the depths. You can cut just about anything with a diamond—except another diamond. On a scale of hardness from 1 to 10 with 10 as the hardest, diamonds are a 10. 
Are there any shortcuts to making diamonds? Actually, there are. People have learned how to make artificial diamonds and other gems. Diamonds made by people are called synthetic(人造的) diamonds. Synthetic diamonds look and act like the real thing. They’re as hard as natural ones. In fact, most diamonds used for industrial purposes are synthetic. Imitation diamonds aren’t diamonds at all. They’re usually made from inexpensive materials that sparkle brightly, such as quartz or glass. But they aren’t as hard as natural or synthetic diamonds. Imitation diamonds are used mostly in jewelry.
Diamonds are judged by the “4 Cs.”  These are color, clarity, carat weight, and cut. The largest natural diamond ever found is the famous Cullinan diamond. It was discovered in South Africa in 1905. The Cullinan tipped the scales at an amazing 3,106 carats! The Cullinan was cut into 105 different gems. The largest of these is called the Star of Africa. It is the largest cut diamond in the world. Today, the Star of Africa sits on the end of the British royal scepter.
6.  Which of the following statement is true?

   A. 
The tip of a pencil is very hard.

B. 
The tip of a pencil is made of different element from that of a diamond.

C. 
Pencils and diamond are made of the same element.         

D. 
Pencils are as expensive as diamond.

7.  Generally speaking, jewelry is made of _______.

   A. 
any kind of diamonds          

B. 
sparkling diamonds      

C. 
most type of diamonds         

D. 
small diamonds with flaws

8.  An object with a hardness of 10 ______.

   A. 
is the hardest object in the world   

B.
can be cut by anything     

C.
is the very soft and easy to cut        

D.
feels like the tip of a pencil

9.  Most diamonds used for industrial purpose are ______.

 A.
natural   

B. 
imitation      

C. 
synthetic      

D.
a combination of the above three

10.  Which of the following about Cullinan diamond is NOT true?

   A. 
It is the largest natural diamond ever found.   

B. 
It was discovered in South Africa in 1905.      

C. 
The Cullinan was cut into 105 different gems.          

D. 

The Star of Africa, the largest cut diamond in the world, now sits on the end of the American royal scepter.

Section C  Questions 11-15 are based on this section. (10 points)

Directions: In this section, there is one passage followed by a total of five pieces of information marked 1, 2, 3, 4 and 5 in Column A. Match them with their correspondent parts marked A, B, C, D and E in Column B. Skim or scan the text as required and then blacken your answers on your answer sheet.
Maybe you recycle cans, glass, and paper. Did you know that nature recycles, too? One of the things nature recycles is water. Water goes from the ocean, lakes, and rivers into the air. Water falls from the air as rain or snow. Rain or snow eventually find their way back to the ocean. Nature’s recycling program for water is called the water cycle.
The water cycle has four stages: storage, evaporation, precipitation, and runoff. 
Most of the water on Earth is in the first stage, storage. Water on Earth gets stored in oceans, lakes, rivers, ice, and even underground. The oceans store the majority of this water.
Water goes from storage into the atmosphere by a process called evaporation. When water evaporates, it changes from a liquid into an invisible gas. The gas is called water vapor. Water vapor goes up into the atmosphere.

Most of the water that gets into the air evaporates from the surface of the oceans. Water also evaporates from rivers and lakes. Water can also go from ice caps and icebergs into the air. Ice changing into water vapor is called sublimation.
Water returns to Earth as precipitation—rain, snow, or other moisture. Precipitation requires ice or liquid water. Water vapor can change into tiny ice crystals or drops of water when the air gets cold enough. Clouds are collections of tiny ice crystals or water droplets.

When the ice crystals or drops of water in a cloud get heavy enough, they fall to Earth as precipitation. Rain, snow, sleet, and hail are all forms of precipitation. Most precipitation falls into the oceans and goes right back into storage.
Water that falls on land always flows from high places to lower ones. This flow is called runoff. Precipitation that falls on land runs downhill. The water cuts channels as it flows. Some water seeps into the ground. It fills cracks between rocks. Underground water also flows from places that are full to places that have less water. 

Water from land flows into streams. Streams flow down mountains. Streams join together to make rivers and eventually the water flows into storage in the ocean. Then the water cycle starts all over again.
	
	A
	
	B

	11.
	Water returns to Earth and change into tiny ice crystals or drops of water
	
	A.  runoff

	12.
	Water flows from high places to lower ones, cuts channels or seeps into the ground
	
	B.  precipitation

	13.
	Water lives in oceans, lakes, rivers, ice, and even underground.
	
	C.  evaporation

	14.
	Water goes into the atmosphere and changes from a liquid into an invisible gas.
	
	D.  storage


15. Is the following chart True of False?    A.  True.         B.  False







Section D  Questions 16 - 20 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
The Beatles were a rock music group in the 1960s and 1970s. They were Paul McCartney, the sweet one, John Lennon, the funny one, George Harrison, the mystery man or Ringo Starr, the bouncy drummer. 

All four Beatles were born in Liverpool, England. All four loved music, especially American rhythm-and-blues(R&B) and rock music. Lennon and McCartney were the main songwriters, with Harrison as their brilliant guitarist. In their music, the Beatles moved from simple love songs to songs about changes taking place in 1960s society.
In 1964, the group appeared on American television’s The Ed Sullivan Show. They were seen by 73 million people, and the sensation known as Beatlemania (披头士狂) started. Screaming fans followed the Beatles everywhere and bought their records in unheard-of numbers.

Performing before audiences became too dangerous because of the crush(挤压) of fans. The Beatles gave their last public concert in 1966, but they kept on making records. 

In 1970, the Beatles announced their breakup. Each of the Beatles went on to a solo career. But fans always hoped the group would get back together. This hope ended when Lennon was murdered by an obsessed fan in 1980. In 2001, Harrison died of cancer. But fans know that the Beatles will somehow never really die
16.
 ______ is the funny man in the Beatles, a rock music group in the 1960s and 1970s.

 
A.
Paul McCartney   

B. 
John Lennon      

C. 
George Harrison      

D. 
Ringo Starr

17. 
Their main songwriter/s are/is _____.

 
A. 
Lennon          

B. 
McCarthy        

C. 
Harrison          

D. 
both A & B

18.  The Beatle’s songs include ______.

 
A.
simple love songs  

B.
songs abut changes in the 1960s     

 
C.
both A & B            

D.
neither A nor B.
19. 
In 1964, the Beatles had a show in The Ed Sullivan Show which was seen by ______ people.

 
A. 
73,000           

B. 
730,000         

C.
7,300,000      

D.
73,000,000

20. The Beatles did not perform before audiences anymore after 1966 because ______.

 
A. 
they were too old to do so.                

B.
they had enough money and did not want to be too tired.      

C. 
it was dangerous because someone had tried to kill them.

D.
it was dangerous because of the crush of fans

Section E   Questions 21- 25 are based on this section. (10 points)

Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
Elizabeth’s parents were disappointed when she was born. They desperately wanted a son. But Elizabeth finally became one of England’s greatest rulers. Her father, King Henry VIII of England, had Elizabeth’s mother beheaded so he could marry again. He wanted to have a son to be king after him.
Young Elizabeth was smart and stubborn(倔强). She studied history, learned to speak several languages, and loved music and dancing. In 1547, King Henry died. Elizabeth’s younger brother, Edward, became king. Edward only lived for a few years after he took the throne. Elizabeth’s older sister, Mary, became queen when he died, but she also lived only a few more years. When Mary died in 1558, Elizabeth was crowned queen.

She faced a very difficult situation. Protestants(新教) and Roman Catholics(罗马正教) were fighting over religion. Harvests failed, and food was expensive. Poor people roamed(流落) the countryside, stealing food. France and Spain, the two strongest countries in Europe, were enemies of England. Mary Stuart, queen of neighboring Scotland, dreamed of ruling England as well.
Most men thought that because Elizabeth was a woman, she was not fit to rule. But she proved them wrong! She chose wise advisers to help her rule, and persuaded Parliament (国会) to support her plans. She set up a new Church of England that pleased most of her people. She gave more power to local governments in towns and counties. She made England richer by encouraging exploration and trade with other countries. William Shakespeare and many other writers and artists produced great works during her reign.
Elizabeth was very successful at protecting England against enemies. She showed great courage in 1588, when Spain sent an armada (fleet of warships) to attack. The armada was wiped out by the English navy. Many princes and even kings asked Elizabeth to marry them so that they could become king of England. Elizabeth refused to marry so that England would not have a foreign king. By the time Elizabeth died in 1603, England had been changed. It was strong, proud, and successful. Looking back, people said that the time Elizabeth ruled was a golden age. They fondly called her Good Queen Bess.
21.
Why was Elizabeth’s mother killed?

  
A.
Because she was disappointed with her daughter.    

B.
Because her father desperately wanted to marry again to get a son.      

C. 
Because she offended her father, king of England.          

D. 
Because she could not bring a child any more. 

22.
 As mentioned in the passage, Elizabeth learned all of the following EXCEPT ______. 
  
A.
music and dancing  

B. 
poems       

C. 
speak several languages          

D.
history
23.  Elizabeth had to face all the problems EXCEPT ______.

 A.
Protestants and Roman Catholics were fighting over religion   

B.
France and Spain, the two strongest countries in Europe, were enemies of England       

C. 
Demark pirates often invaded the northern part of Welsh

D. 
Mary Stuart, queen of neighboring Scotland, dreamed of ruling England as well
24. 
Which of the following is NOT true about Elizabeth?
   A. 
She set up a new Church of United Kingdom that pleased most of her people.     

B. 
She set up a new Church of England that pleased most of her people.      

C. 
She gave more power to local governments in towns and counties.           

D. 
She was very successful at protecting England against enemies.
25.  Elizabeth refused to marry so that ______.

A.
England would not have a foreign king    

B.
she did not love any man   

C.
England would have a foreign king       

D. 
she did not like men
Part Ⅱ: Vocabulary and Structure             (30 points)                                  

Instructions:

· This part will take 30 minutes.
· There are TWO sections in this part.
Mark ALL your answers by blackening the corresponding letter on the Answer Sheet, e.g. [ A ]. 
Section A    Questions 26- 35 are based on this section. (15 points)
Directions: Read the following sentences and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.

26. It is easy to ____ a small detail like that. 

A. outlook          B. stress           C. overlook           D. whisper

27. The society we are living in today is so ____ that nobody can really understand everything in it. 

A. intricate          B. interesting       C. innocent           D. irritated

28. Many automobile accidents were ______ careless driving.
A. attributed to        B. resulted in      C. contributed to      D. raised from
29. The actress wanted a hat to ______her dress.
A. go by             B. go through          C. go out          D. go with
30. ____ the fact that his initial experiments had failed, he persisted in his research. 

A. Because of        B. In view of         C. In spite of        D. Since

31. It’s no good ______ him. He is always indifferent towards others’ matters.
   A. to turn to          B. turning to          C. turn to           D. turned to
32. Some companies have introduced flexible working time with less emphasis on pressure ____.
   A. than more on efficiency      B. and more on efficiency  
C. and more efficiency         D. than efficiency
33. She always put her medication on the top of the shelf lest the children ______ it by mistake.
   A. took             B. should take           C. had taken          D. would take
34. ______ me most was that the young boy who had lost both arms in an accident could handle a pen with his feet.
A. That amazed     B. It amazed          C.  Which amazed       D. What amazed
35. The boy has admitted to ______ the window while playing football yesterday.
   A. breaking         B. having been broken     C. break            D. be breaking
Section B     Questions 36 - 45 are based on this section. (15 points)
Directions: Read the following passage and fill in each blank by choosing the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
A major reason for conflict in the animal world is territory. The male animal   36   an area. The size of the area is sufficient to provide food for him, his mate and their offspring. Migrating birds, for example, divide up the best territory in the order of “first come, first   37  ”. The late arrivals may acquire   38   territories, but less food is available, or they are too close to the habitats of the enemies of the species. 

When there is conflict   39   territory, animals will commonly use force, or   40   of force, to decide which will stay and which will go. It is interesting to note, however, that animals seem to use   41   the minimum amount of force necessary to drive away the intruder. There is usually no killing. In the   42   of those animals which are capable of doing each other great harm,   43   is a system for the losing animal to show the winning animal that he wishes to submit. When he shows this, the   44   normally stops fighting. Animals (especially birds), which can easily escape from conflict seem to have   45   obstacle against killing, and equally no mechanism for submission. The losing bird simply flies away. However, if two doves are placed in a cage, and they start fighting, they will continue to fight until one kills the other. 

	36.
	A. establishes

	B. builds
	C. founds 
	D. erects 

	37.
	A. use
	B. serve
	C. served
	D. used

	38.
	A. larger

	B. better
	C. smaller
	D. worse

	39.
	A. for

	B. over

	C. with
	D. by

	40.
	A. a practice
	B. a proof
	C. a show
	D. a comparison

	41.
	A. only
	B. mostly
	C. mainly
	D. chiefly

	42.
	A. way

	B. case
	C. event
	D. manner

	43.
	A. this
	B. that
	C. it

	D. there

	44. 
	A. killer
	B. loser
	C. victor
	D. successor

	45.
	A. any
	B. some
	C. every

	D. no


Part Ⅲ: Writing             (20 points)                                  

Instructions:

· This part will take 30 minutes.
· Your essay should be no less than 150 words.
Write your essay on the Answer Sheet. 
Write an essay on the topic “Internet --- Two-edged Sword”. You should base your essay on the outline below:

1. Internet的功绩

2. Internet的弊端

3. 你的看法
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Part Ⅰ: Reading Comprehension  (50 points, 60 minutes)
Section A  
1-5  CADCA
Section B  
6-10  CBACD
Section C
11-15  BADCB
Section D

16-20  BDCDD
Section E

21-25  BCCAA
Part Ⅱ: Vocabulary and Structure (30 points, 30 minutes)
Section A
26-30   CAADC     31-35  BBBDA 

Section B
36-40   ACABC     41-45 ABDCD

Part Ⅲ: Writing (20 points, 30 minutes)
作文满分为20分，分为内容（满分6分）、语言（满分12分）和书写（满分2分）三部分打分，三部分分值相加的分数即为作文的总分。各部分评分标准如下：

	项  目
	分  数
	标                                                准

	内

容
	6
	文章切题，内容充实，有独到之处；篇幅适当；结构安排十分合理

	
	5
	文章切题，内容适合；篇幅适当；结构合理

	
	4
	基本切题，但内容有待充实；篇幅适当；结构需适当调整

	
	3
	大致切题，但欠缺关键内容；篇幅不够；结构需进行较大调整

	
	0~2
	没有切题，包含大量无关内容，篇幅不够，结构松散

	语

言
	11~12
	行文流畅，语言得体；句子结构有变化，用词丰富；无语法错误

	
	9~10
	语言自然得体；准确地使用常用语法结构；语法和选词基本无错误

	
	7~8
	语言基本得当；有少量语法错误、选词错误，或拼写错误，不致引起阅读困难

	
	5~6
	语言有不当之处；关键内容表达上无严重语法错误，其它语法和词汇错误不致引起阅读困难

	
	3~4
	语言错误多，导致对关键内容的阅读理解困难或误解

	
	0~2
	语言错误过多，无法阅读理解

	书

写
	2
	书写工整，能清晰认读

	
	1
	书写有不工整之处，造成认读困难

	
	0
	书写不工整，全篇认读困难
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